1.

3)

MAT-1

wifge argan afien
MENTAL ABILITY TEST
¥ WHE-UF 9§ FA 100 weA § | 0w T T swwe|
THERE ARE 100 QUESTIONS IN THIS PAPER.
EACH QUESTION CARRIES ONE MARK.

W (1-8) / Questions (1-8) R
i e v 1 @ 8 v v A m-auﬁamg,ﬁqﬁqmaﬂﬂ%ﬁ'ﬂm
(2) R o v 3 | g vz 7 ot 35 4 el v e 1 4 O | W FarRe T

. < 2 . . term
Instruetion: In each of the Question Nos. 1 to 8 a letter series 1S given "”th e 2
missing shown by question mark (?). This term is one of the four alternatives gl
under it. Find the correct alternative.

R,VVA,GN,?

(1) U 2 Vv 3) W @ X
AC, FH, KM, PR, ?

1) UX @) TV (3) UW @) VW
NZ, Y, PX, QW, RV, ?

(1) FS (2) UF (3) TU 4) SU
AFI, EIO, IOU, OUA,

(1) UXB (2) UAE (3) EUA (4) AOU
ABZ, DFX, GJV, INT, ?

(1) MRR (2) QRQ (3) MRQ (4) QVR
COVIDNINETEEN, VIDNINETEENCO, DNINETEENCOVT, ?

(1) IDNINETEENCOV (2) NINETEENCOVID
(3) INETEENCOVIDI (4) INETEENCOVIDN
RADIUS, RADSIU, RADSUI, RADUIS, ?

(1) RASDIU (2) RDAIUS

(3) RADUSI (4) RAIDUS

H2J, K3N, 048, ?

() T5Y 2) T5Z

() T5X (4) TSA
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MAT-1
we (9-16) / Questions (9-16) ﬁgﬂqﬁﬁﬂa %mm B:]E
frdm: o e 9 @ 16 7 T # 0 6 Mg:;izﬂlﬂ@% mﬁrﬁﬁﬁﬁﬂﬁm |

(7) & avin T § | 9 R 3 St 35 A R =W eries is given With one

Instruction: In each of the Question Nos. 9 to 16.3, “umlftlf.!e four alternatives given
term missing shown by question mark (?). This term 15 TS
under it. Find the correct alternative.
9. 2,3,5,8,13,2, 34 3

(1) 2 Q) 2 3 20 ®
10. 3,8,15,24,35,2

(1) 52 2) 50 (3) 48 @ 4o
11. 824,28, 140, 146, 1022, 1030, ?

(1) 1040 (2) 8240 (3) 10300 (4) 9270
12. 2,9,3,28,4,65,5,9

(1 37 ) 126 () 118 @ 115
13. 4,17,290,?

(1) 84100 (2) 84101 (3) 84102 (4) 84103
14. 3,3,4.5,9,225,7

(1) 273 (2) 48 (3) 55 (4) 675
15. 4,5,12,39, 160, ?

(1) 225 (2) 695 (3) 805 4) 790
k. 349 16909

(1) 57 2) 39 (3) 56 4) 55

59 (17-19) / Questions (17-19)

Py vy e 17 @ 19 7 o 3 v we oit 3wk 3 fred Taan [ R W § | 2w 2w
H MU TG W 2, TO 3w wedl @ firt sl @ v § | el et @ emgds vem
7 hifo foh e wom a—an/& Fread fa T wum = AT TR s w /e W
Ig/4 |raE: Tia a4 fm y/d | '
Instruction: Question Nos. 17 to 19 has a statements and two conclusions
I and II. You have to assume the given statements as true even it seems to vary from
commonly known facts. Read all the conclusions carefully and decide which of the
given conclusions logically follow(s) the given statement even disregarding commonly

known facts.
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(3) MAT-1
HUA :

m,wﬁmmﬁﬁmh
e .

() i wm wa % e, Im & s e s st

(IN) 2o & wt wim AT R |
(1) ot fred | o e 2

(2) e Pt 11 g e |
(3) 2 fromd | o 11 w1 §
@) M Frewd 1 3 v 11 oo w2 |

Statemen - Unemployment is one of the main reason for the poverty of the
country.
Lonclusions - (I) To end poverty ii is required to create employment
opportunities.

(I) All the people in the country are unemployed.
(1) Only conclusion I follows.
(2)  Only conclusion II follows.
(3) Both conclusions I and II follows.
(4) Neither conclusion I nor II follows.
18. =eq: mmﬁﬂﬁtﬁﬂn%ﬁﬁqm#ﬂh
e () =t ey =afe TaseR WA E |
(IT) wrretR & aFRE a2 |
(1) e Frewd [ sgem w2 |
(2) e e 11 sram s |
(3) < Foreemd [ 3 [1 s a2 |
(4) 7 et 1 3f 3 @ Frewd 1] spam =@ 2 |
Statement:  Morning walk is good for health.
Conclusions: (I) All healthy people go for moring walk.
(1) Evening walk is harmful.
(1) Only conclusion I follows.
(2) Only conclusion II follows.
(3) Both conclusions I and II follows.

(4)  Neither conclusion I nor II follows,

NTSE(IV20-21-MAT-701-A



MAT-1 ©)

19. =eH: Wmmiﬂﬁﬂ%‘
e (I) ot sterdiom o fem & 2 |
(1) e o & ST Ak 8, e R € T E
(1) e frerd | serm a2 |
(2) Faw Frewd 11 e @ ¢ |
(3) it e 1 ot 1 srgaor &R §
@) 7 e ], 7@ Frerd [ s s 2
Statement:  Animal live on Oxygen.
Conclusions: (I) Plants do not live on Oxygen.

(I) Anything that needs Oxygen is bound to be animal.
(1) Only conclusion I follows.

(2) Only conclusion IT follows.
(3) Both conclusions I and II follows.
(4) Neither conclusion I nor II follows.

20. B 8 & Fen 37 e T, T T Sten 3 e T w5 ad v H el e 87

Which one of the following Venn-diagram correctly represents the relation between
currency, Rupee and Dollar?

3) (4) OOO

21, et @ e A STt e, TER e 3 wen w3 w o i el e 20

Which one of the following Venn-diagrams correctly represents the relation between
Mumbai, Madhya Pradesh and Bhopal?

oD =69
(3) @ (4)
()

NTSE(1)/20-21-MAT-701-A



(7) MAT-1

22. 9 S 39 o v, YR 3t TR & won mesy @ @ o o el ST 87

23.

24,

Which one of the following Venn-diagrams correctly represents the relation between
Herbivorous, Lions and Animals?

& O,

2 felt 2w ONILINE 7t LNOENT 7en SILENT # LISTNE ferea s &, @ 3¢
FE T H LISTEN % w fovan wmam 2

In a coded language, ONLINE is written as LNOENI and SILENT is written as
LISTNE; then in the same coded language, LISTEN will be written as.

(1) ILSNET (2) SILENT

(3) SILNET (4) SILETN

afe et 2 S HAVOID 3t 73564 7on CHINA wt 28617 fovan e 8, @t 36t &g w1
# COVID it == foran smam 2

In a coded language, AVOID is written as 73564 and CHINA is written as 28617;
then in the same coded language, COVID will be written as.

(1) 53246 (2) 25364

(3) 25346 (4) 25634

ww (25-27) / Questions (25-27)
fém: feferfam gemment =t eamgds Tee 31 W snenfia wow we 25 | 27 3% I S

Instruction : Read the following informations carefully and answer question number
25 to 27 based upon it.

afg et sz W i 461 = 312 @ WHERE ARE YOU; 169 #1 %1% 2 'YOU ARE GOOD' @ent
8652 = aref 8, 'EXAMS ARE NOT BAD.

In a coded language, 461 means WHERE ARE YOU; 169 means 'YOU ARE GOOD!
and 8652 means 'EXAMS ARE NOT BAD'.

23,

26.

'NOT' =t I %2 27?

What is the code for 'NOT"?

(1) 6 (2) 9 (3) 5 4y |
'GOOD' = &1 %2 27

What is the code for 'GOOD'"?

(1) 9 (2) 4 (3) 6 4) 1

NTSE(1)20-21-MAT-701-A



MAT-1 (8)

27. 3w 'WHERE ARE GOOD EXAMS' 2 328 feran smm?
How will'WHERE ARE GOOD EXAMS' will be written in coded language?
(1) 1654 (2) 4619 (3) 1945 (4) 4698

28, o o R 2 e R 1 3 i 2 3 Fraf e T - 9 G

The two positions of a single die are given below. Which digit will be at the face
Opposite to the_ face having digit 2.

5//] Z;_
> [V
29. ﬁﬁqﬂmﬁ@maﬁrafﬁﬁﬁﬁaﬁm{w%1wm%azmﬁ@,ﬁﬁ,wﬁ,

The two position of a single cube are shown below. The six faces of this cube are

FﬂlﬂurEd with Green, Yellow, Red, Black, Pink and White. If Green coloured face
1s at top then what will be the colour at bottom's face?

“dren

o (5

Red

(1) =%a/White (2) #1/Green (7) den/Yellow (4) @m@/Red

S (30-33) / Questions (30-33)

e ww= wem 30 @ 33 1 4w s W v adu wiifara T S, sl ado & w SETE
It SRR |

Instruction : In Question numbers 30 to 33, find the correct mirror image of the give
figure, when mirror is placed on right side of the figure

30. WA AR/ Question Image I A/ Answer Image

(M) \ A \Q\
R




9) MAT-1

31. wwa amHfA/Question Image I AT/ Answer Image

(1) é @) ?
3) g (4) é

32. VIRUS

(1) VvIUz (2) VIRUZ (3) 2UAIV (4) SUIV
33. 53768
(1) B8a7€2 (2) €708 (3) V€08 (4) 8ovEL

34, wh-w sm-fom, R AR B gl w2

Which of the answer figures will complete the matrix figure?
¥ 3R/ Question figure

'
L

I i/ Answer figure

1 < (2) = (3 M ‘ (4)
(1) 4 } -‘ ) \ -ﬁ

L

35. wR-w m-Fom, A ™ A -fam =1 gl =
Which of the answer-figures will complete the matrix-figure?

W¥A HFHf/Question figure

&

/N
I A/ Answer figure

() ?E @ 3) & @) @%

NTSE(I)/20-21-MAT-701-A [PTO,




MAT-1 (10
36. R 24w, 2020 W e o, 7 24 s, 2020 W FA-A A chv" August, 2020
Ifit was Tuesday on 24 March, 2020 then what was the day on S5
(1) g7/ Wednesday (2) v Tuesday
3) HiwaR/Monday (4) @mm/Sunday
37 108 200 % wea e Rt w2 1 2 3 7 3 R T A2

e 92
How many numbers from 10 to 200 are there which are divisible by 2 as well 7
() 13 2) 14 3) 15 (4) 16
T (38-43) / Questions (38-43) ;

Pl T3 S 38 4 43 s e 1 s et 2 e 4, g e Pt TR B2
e e W o

Instruction : In each of the Question numbers 38 to 43, three alternatives are alike ina
certain way but the rest one is different. Select the odd one.

38. (1) =W*/Chalk (2) wem/Pen (3) uf@/Pencil (4) ==wm/Map
39. (1) 2=f/Taxi (2) =w/Bus (3) ®R/Car (4) &=/Tanker

40. (1) <@/June (2) @ m/August

(3) %&a/April (4) 7E=R/November
41. (1) avhe/Africa (2) JWa/Europe

(3) onEfer/Australia (4) ¥ewg/England |
42. (1) #a/Hand  (2) #/Leg (3) A/Ear (4) @E/Neck
43. (1) ¥i%/Cone (2) Pys/Triangle

(3) @md/Rectangle (4) gu/Circle

44, = fm 1§ e v (?) @y
Identify the missing term (?) in the following figure.

7\ /is\
e \Fy

(1) 114 (2) 113 (3) 123 (4) 124

TS/ 20-21-MAT-701-A



(11) MA'F:1

45, fe anoht 9 squfm ue (7) a9Ea

Identify the missing term (?) in the following table.

1 [12 13
14 115 |16

| 2 (3 |4
|39 |57 [ ?
(1) 87 (2) 85 (3) 77 (4) 75

46. v v § o @, i oA § S A, a3 o 8 & R s 2, e e
A | R S S FAE |

Ishant is taller than Sanjay, Ashok is taller than Ishant, Sachin is not as taller as
Ashok but taller than Ishant. Who is shortest in height”

{ ! J ’H’*ﬂﬂ.r"Sanja}f (2) Hﬁt{fﬂﬁchi I
(3) sm=lIshant (4) 7w 7@ % @/ Can't be determined

47. 39 ferenfefar i veh when H gaFw, W @ 7w am 2 | aR den S IE e A 17 A, @ g
0 e | Feh T e |

In a class of 39 students, Mukesh's rank is 7 more than Gautam's rank. If Gautam's
rank from end is 17™, then what will be the rank of Mukesh from beginning?

(1) 138/13® (2) 14:8i/14™

(3) 154i/15% (4) 16816

48. 14 famwar, 2020 = gug 4 7=t @ o |5 femww, 2020 i gug 4 T aw v R e wvad
7 uve H g2 ot an srfosam wit?
From 14 December, 2020, morning 4 O' clock to 15 December, 2020, morning
4 Q' clock. How many times, the minute hand & hour hand of a clock will overlap.

(1) 21 2) 2

(3) 23 (4) 24

NTSE(1)/20-21-MAT-701-A
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MAT-1
Y (49-53) / Questions (49-53) i & GO B AT T

Pl Fresforftan s A 3w T v o et 2 |
HIWA i

?Em:l??q.]{h e following questions are based on the diltﬂBfam

the diagram carefully and answer the questions based upon It

AW |

(i) 9@ T H

(i) & & gfterdia =

(i) B & gofion =

(iv) Imaa & ggart &t Fefta fFmmn |

In the diagram

(i) Circle represent unemployed

(1) Square represent Hard working

(iii) Triangle represent Rurals

(iv) Rectangle represents intelligents.

gretor (Rurals) —

7 T IR

given below, Study

(Unemployed)
afret & g 16
(Hard working) — £ 18
B 0 A e
(Intelligents)

49, :mmm%ﬁ%wﬁmﬁﬁmgﬁgm%m@ﬁﬂmmﬁﬁ%,mm%ﬁm & 7 3 Prelim
TR

The rurals which are Hard working and intelligent but not unemployed are represent

in the diagram by.
¢ @ 1 5) 9 4 8

represented by
(1) 1 2) 2 B
6) 3 @

NTSE(1)/20-21-MAT-701-A



(13) | MAT-1
S1. @ A, W ¥ gfgam @ v 7 @ mdor § 7 T aRenh 3, 9 avi T |
The unemployed, which are intell; gent but neither Rurals nor Hard working are
represented by
(1) 1 2) 8 3) 9 (4) 1
52. =@ ¥ amihur, 3, Rt , SR 2 wen e o 3, W evtm T |
Those who are Rurals, Hard-working and unemployed and also intelligent, are

represented by
(1) 14 @ 9 3) 8 4 1
53. ﬁﬁmﬁﬁﬁﬁ,vﬁﬁﬁmﬁ.ﬂﬂﬂmmﬁmqﬁgﬁunﬁmﬂu&mt,E!Thl'ﬂﬂ!I

Those persons who are neither rurals, nor unemployed and nor intelligent but Hard

working, are represented by
(1) 53Wand7 (2) 123and 17 (3) 10sand 19 (4) 15 3iR/and 16

54. o\ wew Rt firdh, ﬁ@%‘aﬁﬂmﬁ%, T R A PR A A R wafRa |
As clay is related to pottery in the same way gold is related to which of the following.
(1) s@/woman (2) FAWGoldsmith (3) wg4/Ornaments (4) ®m@/Metal

5. fve s aefl, e & w2, s wem o e & fred aaiRE g |
As bird is related to kite, in the same way fish is related to which of the following.
(1) =mE/Crow (2) wAg==t/Submarine
(3) wg=/Boy (4) wmm/Thread

56. oy ' o vy wgl @ 3, S weR Ao w vy R 22
As 'gram' is related to 'mass' in the same way, 'Centimeter’ is related to

(1) dw@/Area (2) @@ /Volume (3) wwe/Density (4) wwmd/Length

W (57-61) / Questions (57-61)
Fdwr: FraforRan wmed #t srmgds uige 3l 38 W smfa awEt & I i |

Instruction : Study the informations given below carefully and answer the questions

based on it.

s v T 8 R R T 1 0 R T e R e 64 A A i -u
v o uftafia e R

All the faces of a solid cube are coloured with red colour and then cut it into 64 small

equal cubes
57. & e 3, Rt et o g o g 27

How many cubes are such with only one face is coloured?

() 12 (2) 24 (3) 30 (4) 36

NTSE(1)/20-21-MAT-701-A [PT.O,



MAT-1

58. & fre wa 2, Rt @ Rrada wag

(14)
A mATHE 2?

faces are red caloured'?

How many cubes are such with two opposite 4 8
(1) 0 2) 4 g8 ¢ o g &
. o e TaE o et
| T Eé% and the remd! ng

59, R fm A 3, R &t Praveadi ag @@ T

How many cubes are such with two adjacent faces are r¢

d coloured

faces are not coloured?
1) 8 2) 12 @) 16 @
60. A frm w2, et di7 v e TR g 27
How many cubes are such with three faces arc red coloured?
(1) 0 @) 6 3) 8 @) b
61. v R w2, Rt =g ot wag TR g 78 27
How many cubes are such with any of the face is not coloured?
(1) 6 2) 8 3) 10 4 12
60 T s 8 13276470 i, Arww d s @ g R HR AT )
*H H o W Eni e ' |
In numbers 5 8 1 3 2 7 6 4. how many digits are such with at the same distance from
the beginning as if arranged in descending order?
(1) ®/Three 2) a/Two (3) uw/One () g T@/None
W (63-65) / Questions (63-65)
Ryder: Ty T 63 F 65 Y FefieE 9, -3t TEmal W AU 2 |
on the following five, three-digit

Instruction: Question Nos. 63 to 65, Each based up

numbers.

63. aﬁmﬁw%maﬁﬁ%ﬁﬁmaﬁﬁm

386, 752, 961, 573, 839
w70, F wEE = T S a

ZaTE ¥ il w1 AN M ?
of every number is interchanged then what

If unit place and hundreds place digit
will be the sum of unit place digit and
(1) 7

64. afe I GETH
If unit place digit and Tens

e 1 i e o o 7

Tens place digit of greatest number?

12 4) 14
Fa TSt e HAE i ?

place digit of every number is interchanged then what

2) 11 (3)

will be the second greatest number.
(1) 893 (3) 961 (4) 725

65. 2 e WG & I
=7 WA, A 39 YER Ut
If the digits of every num
possible number by the digi

(1) 368

NTSE(1)/20-21 MAT-701-A

(2) 863
ﬁwm@ﬁﬁﬁamaﬁﬁﬁmﬁmﬁmﬂﬁﬁw
et 1 TR TE aEn HEl g ?

bers are rearranged in such a way that it form smallcs’
ts then what will be the biggest number out of then!

(2) 527 (3) 691 (4) 389



(15) MAT-1
49 Y T st S § AR 3 4 7 3 H wrew fafiwg R @ T T

66.
Frm?
In the arithmetic expression given below, if the digit 4 and 3 are interchanged then
what will be the solution?
4x2+8-3+2
10
(1 10 @ T (3) 18 @ 12
67. R W sty s b af s x 7w - B wen e W@ G T @ geam g
e
In the arithmetic expression given below, if the sign x ang + are inferchanged the
what will be the solution? |
8x3-24+3+3
29 23
(1) T 2) 9 : (3) 23 @ =
68. fem +aen + 3fit 3w 2 9o 3 = wrew Rifira w0 & ovem 9 5 A SR8 SR sEww
& g Wl = e 27
After interchanging the sign + and + and also interchanging the digits 2 and 3, which
of the following is given with correct solution?
(1) 4%x5+8-3=2=17 ° 2) 4+3&6-3+2=17
() 4+3x8+2x3=17 4) 4+W8+2-3=17
: L.
69. U qEAETEE # 50% feramel SrieRt wTaT § § Ao i At % at wr fg=< war | & | e

1 & Svan sEifea w7 v § Rl wl abtme su i iR e

th

If 50% books in a library are in English language and T of the rest in Hindi

language which of the following siiaded part approximately represent books in

Hindi language.
(1) / ) %
3) 4)

NTSE(1)/20-21-MAT-701-A [ P-LO.



MAT-1 N
m@ﬁﬂﬂ%mm V3

i -72
we (70-72) / Questions (70-72) it

A fo o Pt s e gt A, T o .
ggde® AT : +anding at the corner of
70 @ 72 7% ¥ fom W smf@ & 5T _Shaifu and CharV! are $ hich are based on the

Instruction : In an open ground Ranu, it T
an equilateral triangle. Study the question

: - swer.
following diagram and select the correct ans

Ranu(R)
I
E\

N
Wl BN
..
ot

— e Shaifu(S)

b
Charvi (€, |
74. mﬁaﬁﬁaﬁﬁxﬁﬁ,ﬁi@qﬁvﬁu@ﬁﬁsﬁmaﬁm 1 g 7 QA € |

ey 3 & e wud @ 2e

From the positions shown in above figure, Ranu, Shaifu and Charvi run along the

: L ; ;
sides of equilateral triangle in clockwise direction for 15 sides of triangle. Now

which of the following statements is true?

(1) e, digp ¥ ufwew 7§ 1/Charvi is in West of Shaifu.

(2) T, = & gfem-ufrem # % |/Ranu is in South-West of Charvi.
(3) T, fig  Ffor-afm 4 ] |/Ranu is in South-West of Shaifu.
(4) Vi, 79 % Tw-gd 4 ¢ |/Shaifu is in North-East of Ranu.

|
mﬁaﬁﬁm@ﬁ:ﬁﬁ,q,ﬁgqﬁaﬁmﬁﬁzﬁﬁmﬂmﬁgﬁm 15 YT & Qgd
¥ | s v, 13 A frE R A o R

From the position shown in above figure, Ranu, Shaifu and Charvi run along the

7k

sides of equilateral triangle in anti-clockwise direction for 15 sides of triangle.

Now Shaifu is in which direction of Ranu?

(1) gEfmd/In East (2) =fewm feen g/ In South
(3) Tm-uf;em =/ In North-West (4) Tm-gd famd/ [n North-East

NTSE(1)/20-21-MAT-701-A



(17) MAT-1

. e R 9, 73, g e e o ) R 3 g g | 5 A | 5
et ﬁgaﬁﬁmfamﬁ%:

m the position shown in above figure, Ranu, Shaifu and Charvi run along the

:i?gs of equilateral triangle in clockwise direction for 1 side of triangle. Now Charvi
is in which direction of Shaifu?
(1) zfem-afeed #/South-West (2) zewor-gd #/South-East
(3) sw-afeed H#/North-West (4) ww-d #/North-East
‘“Famr g 'O

oy zmwwd, N E R, Aag R ' W ‘Ao’ ¢ I
Fef B, TR TR R
af CAA, ALIB, D¢B wa B&C ﬁ,ﬁgﬁﬁu@ﬁmmwﬂﬁﬂ |
In this question, 'A' means "Greater than" ‘(] means "Less than", '0'
to", '@ means "not equal to"
1f CAA, ACB, DB and B@C, then choose the correct op
() pOC (2) DAC (3) AAC (4) B@D
74, v Td A i 4 e wen, R g geaR 7 de e | e fo &t gt S Hiet were o A
HE, 7 Hiet el | fir g a7 i i gt it v @ wget 3 et T | =yl amfves forg ®
foreft 27
Darshan walked 4 meters in East, then he

turned left and walked 5 meters again h
finally before stopping he turned right and walked 3 meters.

from his initial point?

(1) 10evmeter (2) 11¥emeter (3) 12d/meter (4) 13 dRYmeter
W (75-77) / Questions (75-77)
ﬁh:ﬁ%ﬂﬂﬁmhﬁqmmamﬁﬁnﬁmﬁm%mﬁ:ﬁaﬁmﬁhmw%lm
Mﬁmﬂﬂﬁ%ﬁ%aﬂﬁﬁaﬁﬁ%lﬁ'@wammﬁﬁﬁ

Tl & I A |

means "equal

tion in the following.

turned right and walked 7 meters, then he
e turned left and walked 7 meters. Then
How for is Darshan

4
:
:
?

el A VIed Tt

[ = W) b w2 e W

NTSE(1)/20-21-MAT-701-A



MAT-1 (18)

e in a hospital. Th;
Instruction : The following table shows the record of sur%?fc:;t’}l.ﬂl}’ N lhi
record shows the data from January to July. Study the ta

following questions. ﬂ?i

IL_M““th ,  Total successful surgery ___Tatal EIEEEEZES_E.H_ ? _g._""ff_h

JELIEH‘_F 5 ' v ||

February 4 . \

March 5 |

’ Apl‘” 6 3 ||
/ May 4 2

June 3 3 \

[ July ) 4 |

75. anﬂ?ﬁﬂmﬁ%aﬂﬁnmwﬁ:ﬁ‘%@ﬁnﬁmw% ?

As per the above table, what is the percentage of successful surcery?
(1) 32%

(3) 58%

2) 29%
@) 21%
76. %ﬂmﬁmﬁmmﬁmwnﬁmmmﬂ?

In which month the percentage of successfull surgery was hichest in the hospital?
(1) w==8/January (2) am=/April
(3) Sem/uly (4) wr=i/March

i %mﬁmﬁmm%mnﬁmmmﬁ?

In which month the percentage of unsuccessfull surgery was highest in the hospital?
(1) s/ July
(3) wad/February

(2) “3/June

(4) =w=t/March
78. uﬁaaﬂtbmﬁrm% 1afza + bZZUZD'@?ﬁ‘(—l)ﬂ +(—1)"Wﬂ1=twﬁ’rrn?

If a and b are natural numbers. [fa + b = 2020 then what will be the value of
(-1 +-1)2

(1) 1@/OR -1 (2) 2020 =/0R - 2020
(3) 1010=/OR -1010 (4) 2=/OR -2
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79. 1 & 100 3 wea W frad quis & < B B wvft et =6t wege v 22

() 3AwmPRIEA LD
(i) 5@ w3 o et 1 &
(iiiy 7 & v 3 It O F |

How many integers are in between | and 100 which satisfying all the following

conditions?
(i) Afterdivided by 3, remainder is |

(i) Afterdivided by 5, remainder is |

(i) After divided by 7, remainder is 0

(1 0 (2) 1 (3) 2 4) 3
80. U @ &l AR WA HrEAl | e o 2w

R fawfem o e 3 | vl s W

uftrg 20 @+t 2 | = =1 ufteng @ @

A square is divided into four identical rectangles.

The perimeter of each of these rectangles is 20 cm. [

What is the perimeter of the square?

(1) 80¥d./cm. (2) 50%f./cm. (3) 48¥f./cm. (4) 328@./cm.
81. i siml aeh ag wad ad wea fwa gard 1 o 8 T 4 | 9IS ) AU i TR el a7 Tl

B T Rl 2 @t 39 8 & 4 A WIS |, H 3 T+ Em?
What is the difference between the biggest 3-digit number having 8 as tens place
and divisible by 4 and smallest 3-digit number having 8 as tens place and divisible

by 4?
(1) 888 (2) 808 (3) 708 (4) 788

WH (82-86) / Questions (82-86)
Py Pefifaa veats wva § R (: <) & 98 3 3 vl & v ¥ vt amoo # =i ffwam wrara

? diw ot werr =t TrEe R (: <) 9 2Tt AR <1 T W aen I i 2 T et o | ot v
faemea & sfter § oft | 7@ fre = g

Instruction : Ineach of the following questions, there is a certain relationship between
two given numbers on left side of sign (: :) and one number is given on the right side of
sign (: :) while another number is to be found from the given alternatives having the same
relationship with the number as the numbers of the given pair bear. Choose the correct

alternatives.
82 20:11::102:% '

(1) 49 (2) 52 (3) 6l (4) 9%
83 G357

(17 48 (2) 42 (3) 34 4) 13
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84. 9:162::8:7 @ 162
1) 9% Q) 112 3) 128
85. 64:100::144:7 wy (86
(1) 121 2) 169 (3) 180 -
86. 0.01:0.0001::0.05:7 " -
(1) 0.00025 (2) 0.0025 (3) 0.025 (
87. F=forfiaa =1 srefqui svm o sraflm i
Arrange the following in a meaningful sequence : ]
(1) w=&/Crop  (2) wg/Root  (3) w/Stem (4) ri/See

(5) wA/Flower
() 452,35 @ 24351 @ 23451
88. Fre-feftam =t srefqui som o wafem St -

Arrange the following in a meaningful sequence :
(1) =w§i/Rain (2) @=e/Cloud (3) wgmwmR/Ocean (4) #&/River

(5) w=rFEA/Monsoon
() 521,43 (2 3,1,2,45 (3) 1,52.45 @ 2 5,1,4,3

@ 4,2,35,1

T (89-92) / Questions (89-92)
ﬁﬁ:ﬁmﬁ&amﬁmﬁw&qq&mmmmﬁm 89 ® 92 7 % Im &

Instruction : Read the information given below and answer the question numbers

89 to 92 based on it.

Tt va e, sfadt ua st ot & Q a=a § raﬁaaﬁrw@m@gﬁ%ﬁr At et i 3 2
sft 1ae 3 fiar @ ot i o | | aik kT, gﬂtqﬁﬂm%aﬁglzﬁﬁm@, I & A
A g |
Kriti and Amit are two children of Smt and Shri Mittal. Amit, married to Ananya, who is
daughter of Smt. Goyal. Shri Goyal had married to Rita. Sony and Rakesh are children
of Sumer and Rita. Urvi and Poorvi are daughters of Ananya and Amit.

89. THW H ForAm 4T 37
What is the surname of Rakesh?

(1) 7@ /Goyal (2) et Mitta (3) = /Amit (4) Fa/K i
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0. Tt &A™ R T HEY R 7
What is the relation of Sumer with Poorvi?

(1) wmé/Brother (2) =m=/Uncle
(3) =m/Maternal Grand Father (4) fa/Father

9], I ®1 HA | FN T 27
What is the relation of Urvi with Kriti?
(1) =ga/Sister (2) wdrRd/Niece
(3) sl /Andt Aunty (4) =&/Daughter
92. € # 3ft MO | A gy 27

What is the relation of Sonu with Shri Goyal?
(1) =@a/Sister (2) wd/Brother

(3) =1/a& /Son/Daughter (4) f=w/Father

R (93-95) / Questions (93-95)
Pr: S 4 T siren 31 ufn i v w93 & 95 3 I A

Instruction: Read the sequence given below and answer question number 93 to 95.
7.6.3.2.3.543527.64.52.3.62,7,5,2,5,2,3,6.5,2,63, ,%2,5
93. et am 5 % 3 2 2, weg 39 i TEd 4 7E €7

How many times 3 is followed by 2 but 4 does not occur just before it?
(1 1 (2) 2
G) 4 @) 5
94, faradt ar 2 & i om faew wE e
How many times 2 is followed by odd numbers?
(1) 4 @) 5
3) 6 @) 7
95. feraet 9 37k 5 & St Uget AU S 1E 6 4 AT §?
How many times has number 5 been used just before or after 4?
1 1 2) 2
3) 3 4) 5
96. fereht ut it fime 9 v it gga 9 12:30 ==t Hon = 2w ?
What will be angle between minute hand and hour hand of a watch at 12:30?
() 180° (2) 150°
(3) 175° (4) 165°
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o (97-100) / Questions (97-100) |
frim: Frferfam Se @ 57 & ufee 3t fa e ugdl & mm?xﬁznd I—
Instruction: Read the information given below carefully
that follow : "
— 3 el
A.B. C, D, E, Fa G U &g % i O &, W /i Aeri—
o 3 zen 3, &=, sitfer,

a X]. #uz @ § | 37 @ v W U @ e uEs \
atgﬂﬁlma,mnﬁaﬂ?ﬁwﬁqnﬁﬁnﬁmwﬂwﬁ I gaga;&TlI}(ﬁ“Em%”’ﬁm

B Y s we 3 il ag wan V1T 8 78 g & | fort i 96 S
V ¥ g § 98 A ve € | F o i w2 meﬁ@%aﬂﬂ%me;ﬁjn
E s X 3 wgan & aik 38 v e & | D 3 e v | G ot 76
@ VI FT@ aga 2 | Fwen VI d 1 qgan # | o +
A,B, C, D, E, F and G are seven students of a school, who are studying In Seveaniffﬁzt
Classes V, VI, VII, VIIL, IX, X and XI. Everyone of them likes a pm‘tlcula; su JCI -
English, Hindi, Physics, Chemistry, Mathematics, History and Geography. Students, Classes

and subjects can always be in different order as given. . _ i
B likes History and does not study in Class VIL The one who likes Elnghsttt stu 1e5' in
Class IX. The one who studies in Class V, likes Chemistry. F likes Physics. C1s studying

in Class VI and doesn't like Geography. E is studying in Class X and likes Mathem atic+s.
D likes Chemistry. G doesn't like English and G is not in Class VII or VIIL F is not in
Class VIILI.
97. F ferm e i ugmr 27
F is in which Class?
(1) VII
(3) XI
98. G form wen o uga 27
G is in which Class?
(1) VI (2) Vil (3) XI 4) X
99. A = wmma v was g2
Which subject does A like?
(1) f&=t/Hindi (2) st/ Geography
(3) et/ English (4) R/ Chemistry
100. e 8 H w7 Ugdl 27
Who studies in Class - 87
(i) B (2) C (3) A 4) E

v, VI, VI VIIL IX, X
e, T, 3T

2) IX
(4) w3 sraamw Data inadequate

i
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